Year 2 Fractions - Maths Day 3 							17.6.2020  
Remember the GD (gold star) questions are hardest questions so only complete them if you are confident you understand the learning. Remember that you may need to use resources or paper to help you work out some of the answers. 
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10a. The bar of chocolate below has 12
pieces. Find one quarter of the bar. Circle
the correct answer.
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10b. The bag of crisps below has 40
crisps. Find one quarter of the bag. Circle
the correct answer.
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11a. Colour a quarter of the shape and
complete the sentences.

11b. Colour a quarter of the shape and
complete the sentences.
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12a. Complete the answers.

12b. Complete the answers.
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1a. Complete the bar model.

1b. Complete the bar model.
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2a. Find one quarter of the apples below.
Circle the correct answer.
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2b. Find one quarter of the carrots below.
Circle the correct answer.
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4a. Complete the answers.

4b. Complete the answers.
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5a. Complete the bar model.

5b. Complete the bar model.
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7a. Colour a quarter of the shape and
complete the sentences.

7b. Colour a quarter of the shape and
complete the sentences.
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8a. Fill in the blanks.

8b. Fil in the blanks.
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